$£4

HRIRETREDEIE

1 HRIRFHREIRR

BARENEERIRTZ(E0HLETD 1 3 DFFRIRETOEETER.
RDESDTY,

FRl=sTOFEIREE(L, 2,834189,622758,960M T,
HIERE B U T, 442{24,081732,040M.

L(CULT. 13.50/\—t> MR L TWVWET,

MAREEE (¥2%8) (L. 2,907/83,154/52,918HT.
AIEE S LT 439{82,501/37,130M.
K(CLUT, 13.13)—t> MNP LTWLWET,
R ERE (¥8%H) (X, 2,785(822,128/9,377HT.
BIEE S LB U T, 434{28,58432,589MH.
K(CUT. 13.50/)\—t> MR LTLWET,

2 SRR ARLINSZOIRGR

MAREEE ((080) N'OSRLRERE (f088) &= US|V TRARLZESITRER
(FETRIRE) (F. 122/81,025753,541F 7T, BIFEE LR U T,
4=3,91754,541FHDRED /&> TVWET,

C Dk TRIREN SBFENED M INETHIFR1E1,816/57,000M%2 %= LA
WZSREINZEE(E. 120189,208756,541HTC. BIFE LR U T,
4E3,404552,581H, R(CLT3.47)\—t> MNP LTWET,

Flo. BETRIRZ (IS L(CHM 5 FEOFEICHAANSNE U,

(B 4%) S M 4 & E B B & 5 R B R R
1B R % O =
X 52 D4 EE BH3EE (A) = (B) (C)
(A) (B) (C) (B)
M [ = %
1% =] 1] g 283,496,228,960 327,737,041,000 A44,240,812,040 A13.50
2 % A # 2| 290,731,542,918 334,656,560,048 A43,925,017,130 A13.13
3% H # g 278,521,289,377 322,007,131,966 A\43,485,842,589 A13.50
m A s o= 5l % B
4 12,210,253,541 12,649,428,082 A439,174,541 N3.47
(% &t 8 ®x & )
5 ik 455 B 508 R AR R EE 0 0 0
BEFEN | #RBBAFT B iR AR 118,167,000 123,298,960 A5,131,960 A4.16
BOMT | BHURM UG AR 0 0 0
NER st 118,167,000 123,298,960 A5,131,960 AN4.16
6 XEINZEE (4-5) 12,092,086,541 12,526,129,122 AN434,042,581 N3.47




